
a,,x, + allxl  + . . . + a,.x. < b,

a,,x, + a,=xz + . + al.x. d bz
. . . . . . . . . . . . ..I.................................
. . . . . . . . . . . . ..“.................................

LbRt

a,IxI + a,,xl  + . . . + a,.x. 6 b,

x,  (j = 1, 2, . . . . n) > 0

pl

. . . . . . . . . . (3.1)

a,,x, + a,3(*  + . . . + a,,,xx.  + x.+, = b,

azlx,  + az2x, f . . . + alax. + x.+2 = b
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (3.2)

OR 333 85



. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

a,,x,  + a,dh  + . . . + a,.x. + x.,=b,

ttflt- x,Cj = 1,2  ,...,  n,n  + l,...,  n + m) 2 0

c = C.

0

x =

XI

X.

X.+1

B =

b,

b

b,

. . . . . . . . . . (3.3)

\
A = (A,+,  I=)

= (2,  s> . . . . 5, . . . . a.+,r

A “WI = (a,,  az, ..-v  a.) I, = (g&l, a”+z,  . ..P  a.+m)

86 OR 333



OR 333 87



3x, + 2x,  + 4x,  + x4  + x5 = 200

x,  + xz  + 2x,  + 5x, + X6 = 170

2x1  + x*  + 3x,  + 2x4 +x1  = 180

LbRE x,(j = 1 , 2 , . . . . 7 ) 2 0

cezxhlv0sei1  x  = cx,,  x2, x3, x4, x5, xs,  x,) wdl~~insS~~i~~ndi~~i~~~  b.%fi

Xl = (25, 10, 20, 15, 10, 20, 30)

XI = (20, 30, 10, 10, 30, 50, 60)

X3 = (0, 0, 0, 34, 166, 0, 112)

X4 = (0, 100, 0, 0, 0, 70, 80)

8 8

XS = (0,~,0,~,0,0~)

OR 333



OR 333 8 9



9 0 OR 333



&Ii.4
f(Z) = f(A&  + hx,  + . . . + A&)

= AIf + &f(s)  + . . . + &f(s)  = E b,m  = m

OR 333 9 1



9 2 OR 333



. . . . . . . . . . (4)

93OR 333



94 OR 333



OR 333 95



20x,  + 5x, + x3  + 0x4  + Ox, = 600 . . . . . . . . . . (1)’

20x,  + 8x, + ox, + x4  + ox5  = 660 . . . . . . . . . . (2)’

15x, + lox, + 0x3  + Ox, + x5  = 675 . . . . . . . . . . (3)’

9 6 OR 333



OR 333 9 7



9 8 OR 333



#g,  = 5 ) i = 1,2,...,m
a.,

320 0 0

a2 a3 a4

0 0 0

320 0 0

pivot number MT0 pivot element

OR 333 9 9



(2)’ - (1)’ : Ox, + 3x, - xa + xq + Ox, = 60 . . . . . . . . . . (2)’

( 3 ) ’  - 15(l)*  : ox, + $ XI  - ix, + 0x4 + x5 = 225 . . . . . . . . . . (3)2

(0)’ + 600(l)*  : P - ox, - 170x2 + 30x, + 0x4 + 0x5 = 18,ooo . . . . .(O)Z

R:  = R: - 15R:

OR 333



OR 333 1 0 1



2II

a
. .

. .
. .%2-
 12

. .%gym+?A8
b
lrn



OR 333 1 0 3



1 0 4 OR 333



OR 333 105



p = P. - e(s, - 3 = P. + e(c,  - 3 > p.

106 OR333



OR 333 1 0 7



n+Ill n+m ntm
( z Y,Jh&l  + ( I:  Ye& + ...  + ( ,f, Y/JMJi)a,  = a0 . . . . . . . . . . (3.3.11)
j=l j=l

YlO(  : Xi&i) + Y*o(  : X&I) + . . . + Y,n+m,o(  f Xlc"+,,cJ 2 p*
i=l i=l i=l

n+m n+nl n+lll
( 1 Y,&h + ( 2:  Y,J&  + . . . + ( 2 y,&/)c,  2 P*

j=l j=l j=l
. . . . . . . . . . (3.3.12)

1 0 8 OR 333



. . . . . . . . C. 0 0 . . . . . . 0

. . . . . . . . a . a,+> ant2 . . . . . . a.+,

. . . . . . X1. 1 0 . . . . . . 0

X11 X21 . . . . . . . . x1, 0 1 ...... 0
........ . . ...... .
........ . ...... .
........ . ...... .
........ . ...... .

L.1 X*2 . . . . . . . . XV”. 0 0 . . . . . . 1

llbdd  xi0 = bj  LLlE  xii = a,, , i = 1, 2, . . . . m ; j = 1, 2, . . . . n + m
d, cdl

lAU?‘WI~ Xc4  =:  (b,, bz, . . . . b,) > 0

&A 2 &mark  P = ? cixxi, bbtx S,  = ? c~x,~
i=l i=l

Mldl  c, - s, qn “]  j = 1, 2, . . . . n + m

OR 333 1 0 9



Qi = !fZ  , xii>O;  i= 1,2  ,...,  m
Xik

1 1 0 OR 333



C1 . . Ck . c, 0 0 0

az a, . . . a, ani, a,+, a.,,
-

x,+1 0 Xl0 x:, x,2 . 0

~:f~~

’Xl” 1 x1(*+,1 0
. .’ “’ . . . .

x,+,-i 0 ’XC,.,)” X;,.,), XI’.,,2 . 0 . . . X(,-I,. 0 . . xi.-l,(.+r,  . . . 0

X* C* I ILO %I x,* 1 . L”

1: 1

0 . . X,i”i,, 0
.

.

&*, 0 ’ ’ ’Lo “2, x,2 . . . 0 . . . X”” 0 . . . X*<,*,, 1

flKUjPlqdi1ZBii  2 do%~sun',la-%~~lao~~~~~

n7a~l~la~suanaaadR-~~~~~  aiunai iteration

30, e2 = ~ 660 =
20

33, e3 = ~ 615 = 45
15

XI 600

x4 0

x5 0

und I vasms19~ 2 bYam

600 20 5 1 0 0

20 20 20 20 20 20

w

OR 333 2 1 1



600-600 20-20 o-18 - 5 1 - o o - o

b01UAwJwla~ 1 hns14  2 l,¶JfpfY¶J 15 etrd

Z
X5 0 675 SEE10 0 0 0 45

zY===zz
nzzzz=Gz
~0000'-rzz==zx===czzz

c, - sj e 320 0 0 0 -

112 OR 333



s,

XI 6 0 0

X2 320

X3 0

c,  - s,

-

om3  0 1= - -
z!zazz4 I

600-30 0 0
---

0 StJB-30 0 0

1 o=lo__-  -
m 1 2--======z

0 1 ml  0
a3-

‘lll#llllllllll  Ill
600 320 m ~zii+EE 170 o

zc?E3====zz I--

0 0 =--m 170 o
zzEz3-

1 0 0 l L
8 - 10

0 1 0-i  l
4

0 0 l-25  3
16 i

600 320 0 15 20

0 0 0 -15 -20

120

36

187.5

‘llllllllMllllllllll

OR 333 1 1 3



10 5

5 6

4 . 5 1 8

160 100 I
Fh.Ghhlwd  2

brim n Ln%w  “II

2 1

2 1

1.5 6

60 40

=  160x,  +  100x,  +  60x, + 40x4 ,

5x1  + 6x2 + 2x3  + x4  6 450

9
-XI + 18x,  + ; x, + 6x4 < 765
2

bba: X, 20, j = 1,2,3,4

114 OR 333



?41~1~9~~ll~3 P

= 160x,  + 100x,  + 60x,  + 40x,

bflUfiGfl~lC@

10x, + 5x, + 2x, + x4 t xs = 500

5x, + 6x, -I 2x, + x,; + X6 = 450

9-xc + 18x1 + $3 + 6x, +x, = 765
2

bbA" x, (j = 1, 2, 3, 4, :5, 6, 7) B 0

s6 2 10 10 90-
====z=z
=18 3 6 0 0 1====zz
SEEi i

170
- --:
B;o 0 0 0 0 0
====zzz:-:__~
a: 100 60 40 0 0 0-:-: --

-
63 %EZ 111 9 o 1

O 4 - - - - 900
m 20 20----

160 80 E!BEE 16 16 0 0---
0 2OZZEE24-16 0  0---

OR 333 1 1 5



-=======-
160 178 60 s 2 28 0

-
0 -78 0 gfg -2 -28 0

1 1 6 OR 333



OR 333

(5ON5) (l)(5) +) ($5)  ( ; X5) ( ; j(5)  0 0

1 1 7



R: =
9

R’, ~ -R:
2

B:K-il

765-225 ;-; 18-i I- & 6- $ 0- $ O-O I-O

dim9 P Gmrm%G4in (160)(50)  + (0)(200)  + (0)(540)

bKdslaFil'llK  s, 9ln 160x:, + Ox;, + Ox:,
k cdl
umno

s, : 160 (160)+ (160)(i) (160)(  & ) (160)( ; ) 0 0

R: = R: ; 200 0 ; 1 '
z

-I 1 0
2

1 1 8 OR 333



R: = ; R: ; 4.
(21)(420) 0

R: = R:  - ;R: 200-40  O - O  I- '3
2 10

R:  =  R: Yl4UbU0991n x:, = 0

Rl~ameilvo;I  P mn (160)(10)  + (60)(160)  + (40)(80)

OR 333



ml3l~A  1

P

X.+1

X.+2

X,*,

Xl X1 . . . X.

1 2 0
OR 333



--v
X6 I 450

X7 765

Xi x* X3 X4

-160 -100 -60 -40

1 0 5

5 6

I 9
18 3

z z
6

A.

50

90

170

X5 ___~-
160- -

1 0

I
i0

5- - -
10

‘9- - -
10

5 2 1
itI lo iii

(j - ? 2-E 1-i
1 0

:I8 - ‘; 3
z 10

- - -
2 20

6-9
20

OR 333 121



X,

Xi

X5 X2 X4 dliLOU‘adl6
t ”

8,000 +I6 -20 -*i -24 0,

50
I1 18 1

iii t . lo
250

1 2 2 OR 333



4

- -

P

x. 80

14,400

--.-_

10

160

l-
i

x5 X2 X6 x7

I2 104 188 40
7 I u

1
s

17
- 3 5

I 1-_ -- 0
5 5

II 37 2
r 35 2 1

!-
F

1 3 4 4
5 35 21

a>,x,  + alzx2 + . . . + a,.x. = b,
,..._.............................................
___.......___.....................................

a,,x,  +- am2x2 + + a,.x,  = b,

LLA” X, 2 0 , j = 1,2,...,n

OR 333 1 2 3



a,,x, + allxl  f . . . + a,,x,  + x,+, = b,

a,,x, + aSlxI  + . . + a,,x, + Xn+2  = b,
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

a-,x,  + a,2x2  + . . . + a;,x, + x,+m=  bm

ka: x, Cj  = 1, 2, . . . . n + m) > 0

124 OR 333


